
INSTRUCTIONS 
-J00301 
	

REV. 10-1-87 
HARLEY-DAVIDSON 

Kit Number 58007-86 

WINDSHIELD MOUNTING KIT 

General 

This kit is designed for use when installing Windshield Kit 
Part No. 58001-71D onto 1986 FXR, 1983 and later XL, 
1985 XLX and 1986 and later XLH model vehicles. 

The following parts are included in the kit: 

OTY DESCRIPTION 
2 Screw. sockethead 3/8 - 24 x 2 in. 
2 Bolt. 5/16 - 24 x 3/4 in. 
2 Washer, 3/8 in. flat (chrome) 
2 Washer, 5/16 in. flat 
2 Nuts, 5/16 - 24 
1 Bracket. windshield mounting 

Installation 

1. Remove two (2) lower fork bracket pinch bolts 

2. Using new sockethead screws and chrome washers 
from kit, attach windshield mounting bracket to lower 
fork bracket so 90o bends in bracket point towards rear 
of vehicle. Torque sockethead screws to 30-35 ft-lbs. 

3. Refer to Windshield Kit Instruction Sheet for windshield 
installation procedures. 

NOTE 
Use 5/16 - 24 x 3/4 in. bolts. 5/16 in. fiat washer and 5/16 - 
24 nuts from this kit through bottom hole in left and right fork 
brackets from Windshield Kit to attach to mounting bracket 
from this kit. 

NOTE 
Some models come equipped with directionals mounted to 
holes in top fork bracket that are needed to install 
windshield. To remove directionals first remove headlight 
from mounting bracket. Disconnect socket/pin connector 
housing located in the back of the headlight housing. Follow 
wires from directionals to socket connector housing (mark 
position of wires in housing to ensure correct replacement 
position). Remove directional wires from housing with 
socket connector removal tool. Remove directionals by 
unscrewing entire assembly. Position top hole in fork 
bracket from windshield kit over directional mounting hole. 
Assemble directional in reverse order of disassembly so 
directional mounting stud goes through top hole in fork 
bracket. 


